May Revision – Lesson 1C –  CSQ Q2
1.
China’s Economic Indicators (1999-2002)

	
	1999
	2000
	2001
	2002

	(billions of RMB)

Gross Domestic Product
	8206.8
	8946.8
	9731.5
	10479.1

	Real GDP growth (%)
	7.1
	8.0
	8.1
	7.6

	Consumer Price Index (%)
	-1.4
	0.4
	0.7
	-0.8

	(billions of RMB)

Total Investment in Fixed Assets

(Growth rate, in %, previous year =100)

Total Investment in Fixed Assets 

State-owned units

Collective-owned units

Individual economy
	2985.5

5.1

3.8

3.5

12.1
	3291.7

10.3

3.5

10.7

12.3
	3721.3

13.0

6.7

9.9

15.3
	4350.0

16.9

7.2

13.4

20.1

	Total industrial output growth (%)

(Number of enterprises, 1000 units)

1 State-owned enterprises

2 Collective enterprises

Private enterprises

3 Non-domestic funded (non state-owned)
	11.6  

50.7

42.6

14.6

26.8
	9.9

42.4

37.8

22.1

28.4
	8.9

34.5

31.0

36.2

31.4
	12.6

29.4

27.5

49.2

34.5

	(10000 persons)

Total number of employed persons

Urban employed persons by state-owned units

Urban employed persons by collective-owned units

Urban employed persons by private enterprises
	71394

8572

1712

1053
	72085

8102

1499

1268
	73025

7640

1291

1527
	73740

7163

1122

1999




1 State-owned enterprises refer to industrial enterprises where the means of production or income are owned by the state.

2 Collective-owned enterprises refer to industrial enterprises where the means of production are owned collectively, including urban and rural enterprises invested by collectives and some enterprises which where formerly owned privately but have been registered in industrial and commercial administration agency as collective units through fund raising from the public.

3 Non-domestic funded industrial enterprises refers to foreign-funded enterprises and enterprises funded by entrepreneurs from Hong Kong, Macau and Taiwan

China’s Market-Oriented Reforms

China had undergone three major reforms since late 1970s. From institutional transformation to the emergence of township and village enterprises, the third reform saw the emergence of private sector as a main source of economic growth. As such, China grew rapidly over the past 2 decades such that the economy seemed to be overheating.

Besides rapid economics growth due to the reform, China began to attract unprecedented amounts of foreign investment. Owing to the upsurge of economic activities, by 1996, China virtually completed the transition from a planned economic system to a market-oriented economic system, in the sense that most prices were set by the market.

As the China economy shifts towards a market-oriented system, the size of government should decrease. However, this takes time and the government is implementing major tax reforms to raise sufficient revenue to finance her efforts in privatization of state-owned enterprises. And, some policy markers seemed to contradict themselves by aiding the state-owned enterprises by supplying them sufficient resources and managerial expertise. The China’s leadership is hoping for these large state-owned enterprises to restructure to become viable, else, inevitably, many of them will be privatized in piecemeal fashion.

ai) What is meant by a market-oriented economy? (2)

aii) How does the data show that China was undergoing a market-oriented reform? (3)

b) What evidence is there in the data to show that the market-oriented reform had a positive impact on the Chinese economy? (4)

c) What are the possible undesirable effects of the adoption of market reform? (4)

di) Explain the concept of opportunity cost. (2)

dii) Explain and illustrate the possible opportunity cost the economy of China will experience as a result of the rise in private sector investment on fixed investment. (3)

diii) What can China do to rectify the constraint of the PPC so that it can increase production of both consumer and public goods and increase investment in fixed assets for private sector? (2)

Answer to Q1 – Central Economic Problems
ai) What is meant by a market-oriented economy? (2)

It implies that the economy has placed greater reliance on the use of demand and supply to allocate resources. It also signifies reduction in government participation and an increase in participation by private enterprises. During this process, certain state enterprises may be privatized and certain goods previously produced by the state will be produced by the private sectors. The focus of the private firms will be on profit maximization and efficiency.

Aii) How does the data show that China was undergoing a market-oriented reform? (3)

There growth rate of the total investment in fixed assets is the greatest for the individual economy and the collective-owned units in the past four years, indicating that private investment is rising. This explains why the industrial output growth is greatest for private enterprises which have increased from 14.6% to 49.2%. Similarly, industrial growth output has increased tremendously from the source of non-domestic fund (foreign companies) from 26.8% to 34.5%. Lastly, although the main bulk of employment is still from the state-owned companies, the employment from the private enterprises has increased near to 95% from 1999 to 2002. These data evidently supports the rise of a market-oriented reform.

d) What evidence is there in the data to show that the market-oriented reform had a positive impact on the Chinese economy? (4)

There will be a growth of the Gross Domestic Product from 8206.8 billions RMB to 10479.1 billions RMB. At the same time, real GDP growth has been increasing at a positive rate. The market reform has also helped to increase the country’s employment as the increase in investment from the private sector has demanded the government to increase their investment in fixed assets and thus leading to more employment. Lastly, the increase in production leads to greater supply and thus helps to lower price level of most consumer goods.

e) What are the possible undesirable effects of the adoption of market reform? (4)

It is possible that the economy may experience unequal distribution of income which may create greater social dissatisfaction and thus undermining the stability of the economy. There is also the possible rise of externality that will create detrimental effects of the economy, increasing the social cost and causing the society to experience more deadweight loss (welfare loss). There will be rising price as there is greater demand for resources and this will lead to rise in cost of production as seen in the over-heating of the economy. Consequently, the rise in cost of production will be passed on as rising prices of goods and services as seen in the rise of property in China. The greater concern for the private sector will lead to the negligence of the government to take care of the need of the society as seen in the reduction of public goods for the welfare of the people. Lastly, there may be greater inefficiency due to duplication and poor coordination of the market mechanism, leading to wastage and rising cost.

di) Explain the concept of opportunity cost. (2)

Opportunity cost is defined as the cost of using resources for a certain purpose, measured in term of the next best benefit it can derive when use for another alternative.

The concept of opportunity cost can be illustrated through the production possibility curve. The production possibility curve shows all combinations of 2 goods that an economy can produce, with a certain level of technology and resources which are utilized efficiently.

dii) Explain and illustrate the possible opportunity cost the economy of China will experience as a result of the rise in private sector investment on fixed investment. (3)

Due to greater private investment, it is likely that the economy will have to forgo the resource available for present consumption. It is also likely that the government sector may have to reduce the resources available for the investment in the production of public welfare goods. One example would be the reduction of worker availability for the public sector and the industries producing consumer goods. This can be seen in the diagram given whereby an increase in fixed asset investment in the private sector from Q1 to Q2 will lead to a reduction in the production of goods for consumer goods or public goods from Q1 or Q2.



diii) What can China do to rectify the constraint of the PPC so that it can increase production of both consumer and public goods and increase investment in fixed assets for private sector?

The economy can increase its resource availability through imports from other countries. Besides this, it can also raise the technological level so to increase production with the available resources.

ai) What is meant by a market-oriented economy? (2)

aii) How does the data show that China was undergoing a market-oriented reform? (3)

f) What evidence is there in the data to show that the market-oriented reform had a positive impact on the Chinese economy? (4)

g) What are the possible undesirable effects of the adoption of market reform? (4)

di) Explain the concept of opportunity cost. (2)

dii) Explain and illustrate the possible opportunity cost the economy of China will experience as a result of the rise in private sector investment on fixed investment. (3)

diii) What can China do to rectify the constraint of the PPC so that it can increase production of both consumer and public goods and increase investment in fixed assets for private sector? (2)

Consumer goods or public goods
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